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dhjbwn pulinpuljub PCU2 hwwn 80 1500 120000
Ynohly pubynpuljwt ddkpught |PCUL qnyg 25 7500 187500
pwbiynpuljwt dkinling PCU2 qnug 800 300 240000
pwbiynpuljwt hwgniuwn FLU2 huwwn 25 8000 200000
Ynphl pubiynpuiljwb wdwnuyhh |FCU2 qnugq 25 6500 162500
puiinli PLUZ hwwn 6 250 1500
uphy POUL2 huin 5 80 400
nhkwnhl PCU. hwwn 5 100 500
Uwiinhwn PLU.Z hwwn 20 100 2000
Ljuphs BCUZ huwwn 4 1200 4800
PRyl PLUZ hwwn 40 100 4000
unuhtid BLUZ hwwn 5 200 1000
huwioghs PLU2 hwwn 2 1800[" - 3600
pwpn.ahnoh FCU2 hwwn 2 5000 10000
hwoy.ghpp PCULZ hwwn 3 1000 3000
hwoy.ghpp PLUZ hwn 1 1200 1200
Prpuyubul PLU.Z hwwn 20 90 1800
pNL)R PLU2 winith 15 2500 37500
qphs PLUZ hwwn 41 100 4100
duyy PCUZ huwn 300 10 3000




widpul PLUZ wnnth 6 150 900
puliwp PLULZ wintth 2 250 500
nuljhy PLULZ hwwn 1 2000 2000
prpwuwiul PCUZ hwn 6 950 5700
uknuith hwjwpwdnt PLULZ hwwn 2 4500 9000
J&wpd. hubidbwp. £LUZ wintth 10 700 7000
suphlu POUL hwtn 10 350 3500
hwod.dlupn. PLULZ hwwn 40 200 8000
pupuiphy PCUZ hun 2| 17000 34000
pwpuphs PLUZ hwwn 2 18000 36000
odwn LLUZ huwn 40 130 5200
htinnil) odwin £eUZ hwwn 15 450 6750
uny POUL huitn 60 1000 60000
qniLg.pnup PLUZ huwn 60 180 10800
wuy. . hknniy PLULZ huiwn 9 450 4050
oliong PLUZ hun 13 600 7800
dwppnn thnph PLUZ huwn 29 500 14500
nuijuowt LLuUZ hwwn 20 500 10000
uynilg PLUZ hwwn 8 50 400
huwunwiljh onp PLULZ huwn 31 500 15500
ghnliwonp PCUZ hwwn 3 2500 7500
wldknlinghly PLUZ wnnuh 20 300 6000
by jundy £OUZ hunn 10 150 1500
ukipubp e g 30 5980 179400
ubpubp e lq 28,8 6500 187200
ubkpubp ne g 14,4 9800 141120
ubpubp e l1q 12 9800 117600
unfuniljitip ne hwwn 1197 245 293265
unjuniljutip ne huin 7200 97 698400
uwdhjukp e hwwn 11100 292| 3241200
uwudhjukp ne hwwn 600 495 297000
wnulhukp ne huwn 504 290 146160
ohn.ympkp PLULZ npuyd 1| 180000 - 180000
4hp PCUL lig 2500 300 750000
puth [ hun so| 2300 115000
thngu FOUZ huwn 20 1800 36000
Unipd PLUZ huwwn 4 2500 10000
unng PCUZ huwn 6 3100 18600
nipwg PCUZ hwiwn 2 1500 3000
phntwuwyjuly PLUZ hwwn 2 16000 32000
t.hnuwtip kpluip.juip 50 PLULZ huwwn 1 23000 23000




Ulpun PCULZ hwwn 8 6000 48000
Jught FLUZ hwwn 5 7500 37500
lwught thnpp £LUL hwwn 3900 11700
hunpnjuly RCUZ Uk 40 1000 40000
thuljule BCUZ huwn 3 2200 6600
wupwl PCUZ Ukup 50 300 15000
qkpwnh PLUZ hwwn 4 3500 14000
tEnuil PCULZ hwuwn 5 1000 5000
ypdhh PLUZ hwwn 40 600 24000
{hiig ALU2 huwitn 1] 6000 6000
pinilg FCUZ hwwn 1 4000 4000
Epynnuuwih unng PLUZ hun 1 6000 6000
1hug Ukju hwijnu PLULZ hwwn 1 2400 2400
puhh thns PCUZ hwwn 70 400 28000
by quidyy £CuUZ huwn 30 600 18000
b qudwy h UEfiuplyhy £OU2 hwwn 10 1000 10000
wunhdw 3U PLULZ hwwn 1 19200 19200
niy MOTO 2T PCUZ 1hwnp 300 2000 600000
iy VALVOLINE RCU.Z 1hwip 140 2500 350000
nhq.Jwnkihp 2 |hwap 8000 318| 2544000
phght o |hup 6500 350/ 2275000
Ununnpinly <<Ukjw 236>> PCUZ hun 1| 570000 570000
4jnil lwppnn gnpshp PCUZ hwwn 1| 150000 150000
$bpkq PLUZ hwiwn 1 30000 30000
thwjunwhwwn dkpktw PLUL hwwn 2 75000 150000
fjununnhwip Ukptw PCUZ hwwn 3 70000 210000
funinhwip Jkpkbw PLUZ hwwn 2| 150000 300000
unpwlnnph whjunnn PLUL hwiwn 2| 140000 280000
unpwljuinph whjunnn £CU.Z hwwn 2| 210000 420000
puiqung PLULZ hwwn 1| 158000 158000
gpuukl.puglupnn PCUZ huwn 2 46000 92000
wynn uwipp PLUZ hwwn 1 63000 ~ 63000
fununnhwip Ukp.juipnng ply BCUZ wnnith 20 1600 32000
Unuhljukip RCUZ hwwn 25 800 20000
wuwhbunudwu PLUZ hwwn 25 1700 42500
wuwhhunwdwu PCUZ hwwn 15 5500 82500
nhuly FLUZ huwn 20 3200 64000
prluly FLUZ huwn 2000 12000
hunnuijuly FRUZ, huwn 4600 27600




Ang PCUZ huwn 6 2300 13800

wuwhbumnuduu PCUZ hwn 5 5000 25000

wuwhhunwdwu PLUZ hwiwn 4 4000 16000

wyuwhbunwdwu PLUZ hwwn 3 3700 11100

wwhbunwdwu PCUZ huwn 8 4800 38400

wuwhbunuwdwu FLUZ hwwn 15 4000 60000

wwhbunwdwukp PCUZ nupu 1| 321100 321100

30211280 [Zwdwlwpghs wdpnnep 1-mud (UG npud 1| 210000 210000

Jupswlwb uvwppuwynpnidbp  |PCUZ npuu 1| 260000 260000

UUU 2 Cwnuynipjnibilip 4858042

UNNU Swnuynip. PCU2 npuu 1 42 42

65310000 £|. Elukpghw PO npu 1| 250000] 250000

Uy dwpuu PCUZ npwd 40000 40000

opgul Ukpkliuyh Jupdwl. npud 1| 650000 650000

YbEpkjwluwht wown. dwpduwly. nc npud 1| 3780000 3780000

64211101|Ywyy U hinkplkw dwn. PCUZ npud 1| 120000 120000

65111000|2puiwnwjupupnud PCUZ npuid 1 18000 18000
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